A)
B)
C)
D)
E)

A)
B)
C)
D)
E)

A)
B)
C)
D)
E)

A)
B)
C)
D)
E)

A)
B)
C)
D)
E)

A)
B)

CLASS - X
SUBJECT - COMPUTER

In MS-Excel, which one of the following shortcut keys are used to enter the current
time in a cell?

Ctri+Shift+T

Ctri+Alt+;

Ctri+Shift+;

Ctri+T

None of these

Which one of the following options is not in Insert menu in MS-Word 2003 application?
Window

Hyperlink

Header and footer

Bookmark

None of these

Which one of the following is true?

A row number and a column letter generate the unique address of a cell.
In spreadsheet, every column is identified by a specific letter.

In the spreadsheet, every row is identified by a specific number.

All of these

None of these

Which one of the following is not a valid break type in MS-Word?
Text wrapping break

Column break

Format break

Page break

None of these

Which one of the following modules of an operating system provides an interface
between the device and rest of the system?

File management

Device management

Process management

Memory management

None of these

Which of the following is/are considered to be the functions of memory management?
Relocation
Protection



C)
D)
E)

A)
B)
C)
D)
E)

A)
B)
C)
D)
E)

A)
B)
C)
D)
E)

10.

A)
B)
C)
D)
E)

11.

A)
B)
C)
D)
E)

12.

Sharing
All of these
None of these

Which of the following function will return a value of 8?
ROUNDUP (8.4999, 0)

ROUNDDOWN (8.4999, 0)

ROUND (8.4999, 0)

Only (b) and (c)

All of these

___is a round magnetic disk that is coated by a thin layer of iron oxide.
Head

Platters

Spindle motor

Hard disk

None of these

Which of the following statements are true about transition?
During a slide show the incoming slide moves on the screen
During a slide show outgoing slide moves off the screen
Power point enables a list of transition

All of these

None of these

Which of the following function will use to find the highest number in a series of
number?

MAX (B1:B3)

MAXIMUM (B1:B3)

HIGH (B1:B3)

HIGHEST (B1:B3)

None of these

Nowadays hundreds of programming languages exist but few of them are standard
one. Which of the following is/are the programming languages?

Java

C++

Oracle

Only (a) and (b)

None of these

Match the following:



13.

A)
B)
C)
D)
E)

14.

A)
B)
C)
D)
E)

15.

A)
B)
C)
D)
E)

16.

A)
B)
C)
D)
E)

17.

A)

(A) (B)

1. Trojan Horse a. Procedural language
2. Java b. Structural language
3. SaL c. Has eligibility to make primary key
4. C d. OOPS
e.

Computer virus
A) 1—e, 2—-d, 3—b, 4—a

B) 1—d, 2—-e, 3—a, 4-b

C) 1—b, 2—¢, 3—d, 4—e

D) 1—c, 2—e, 3—b, 4—-b

E) None of these

A binary variable can take values:
0 only

1and O

0 and 1

2 only

None of these

A Boolean function may be transformed into:
logical diagram

logical graph

matrix

All of these

None of these

NOR is a complement of:
AND

OR

XOR

Both [a] and [b]

None of these

Steve wants to convert 10111 to decimal number. Which one of the following is the

correct conversion?
48

23

29

3000

None of these

Find out the one's complement of 1100111?
0011000



B)
C)
D)
E)

18.

A)
B)
C)
D)
E)

19.

A)
B)
C)
D)
E)

20.

A)
B)
C)
D)
E)

21.

A)
B)
C)
D)
E)

22,

A)
B)
C)
D)
E)

23.

0011111
1100110
0100110
None of these

The hexadecimal number system is based on 16. Which one of the following is an
example of hexadecimal number?

232G

137H

120AG

121BC

None of these

Which one of the following is the correct conversion of 6410?
1000000

0000001

1000100

1111111

None of these

In HTML how many headings are defined?
<h1> to <h4>

<h1> to <h5>

<h1> to <h6>

<h1> to <h9>

None of these

Opening Tag of HTML Tag is called as ___ .
Ending Tag

Closed Tag

Starting Tag

Forward Tag

None of these

Choose the correct HTML tag to left - align the content inside a table cell.
<td left align>

<td align = "left" >

<td v align = "left">

<td = "left">

None of these

Who is making the web standard?



A) The worldwide Web Consortium
B) Internet Explorer

C) Netscape Navigator

D) All of these

E) None of these

24. <b> tag makes the enclosed text bold. What is other tag to make text bold?
A) <strong>

B) <dar>

C) <black>

D) <emp>

E) None of these

25. How can you make a bulleted list?
A) <list>

B) <nl>

C) <ul>

D) <ol>

E) None of these

26. Choose the correct HTML tag for the smallest size heading?
A) <heading>

B) <h6>

C) <h1>

D) <head>

E) None of these

27. What does vlink attribute mean?
A) Visited link
B) Virtual link
C) Very good link
D) Active link
E) None of these

28. To create HTML document you require a:
A) web page editing software

B) High powered computer

C) Just a notepad can be used

D) All of these

E) None of these

29. Which of the following HTML code is valid?



A) <font colour="red">

B) <font color="red">

C) <red><font>

D) All of above are style tags
E) None of these

30. Which of the following statements is NOT true in case of Flash?
A) Flash files loads faster than animated GIF images.

B) It is a free software.

C) It allows interactivity compared to animated images.

D) It does not require significant programming skills.

31. Which of the following operations can be applied to layers?
A) You can change the position and order of layers.

B) You can delete layers.

C) You can add layers.

D) All of these

32. Which of the following operations performs the following tasks?

(i) Generate the compressed version of your file with swf extension.

(ii) Generate an HTML document that activates swf files and specifies browser settings.
A) Font Mapping

B) Publish

C) Snapping

D) Magnification

33. You can scale, rotate and change the direction of the gradient fill in an object using
the __ tool.

A) Gradient Transform

B) Gradient Fill

C) Polystar

D) Free Transform

34. Which of the following is NOT a part of the Pen Tool flyout?
A) Add Anchor Point Tool

B) Delete Anchor Point Tool

C) Pin Anchor Point

D) Convert Anchor Point Tool

35. In ___ layers, you can create strokes that acts as a path for instances, groups or text
to be followed.



A) Guide

B) Flip

C) Both [A] and [B]
D) None of these

To slow in and slow out the speed of an object in an animation, use __.
A) Flipping

B) Curving

C) Tweening

D) Easing

36. The default frame rate in Flash is __ fps.
A) 18
B) 24
C) 30
D) 36

37. When you use geometrical primitives such as lines, curves, points and shapes to
create graphics, you are using ___ graphics.

A) Raster

B) Linear

C) Vector

D) Collateral

38. Which of the following is NOT a filter type?
A) Bevel

B) Gradient Glow

C) Gradient Shadow

D) Gradient Bevel

39. You have created a shape on stage, now you want to add a filter effect to it. How
would you do so?

A) Convert the shape to Graphic symbol —»Select the symbol — Go to Properties tab —
Filter — Click on Add filter —Select the desired effect.

B) Convert the shape to Movie Clip symbol — Select the symbol — Go to Properties —
Filter —Click on Add filter —Select the desired effect

C) Convert the shape to Graphic symbol—-Select the symbol — Go to Modify tab — Filter —
Click on Add filter — Select the desired effect.

D) Convert the shape to Movie Clip symbol — Select the symbol — Go to Edit tab — Filter
— Click on Add filter — Select the desired effect



40. To maintain a constant orientation of an object with respect to its path, use the ___
check box in the Properties window of Motion Tween.

A) Scale

B) Snap

C) Orient to path

D) Sync

86. What would happen when you select a line of text and then go to Modify tab and
select "Break Apart” option?

A) The text block will get broken into multiple text blocks to edit each character
separately.

B) The text block will get broken into two parts and each part will get assigned to a
separate layer.

C) The animation or any effect applied to the text will get removed.

D) The text will get copied to all existing layers.

87.A binary variable can take values:
A) 0 only

B) 1and 0

C) Oand 1

D) 2 only

E) None of these

88. Truth table is way of expressing:
A) boo lean function

B) boo lean Operators

C) boo lean addition

D) boo lean subtraction

E) None of these

89. A Boolean function may be transformed into:
A) logical diagram

B) logical graph

C) matrix

D) AIll of these

E) None of these

90. X.X1 is equal to:
A) 1

B) O

C) X

D) X1
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E) None of these



